Section 7.3

Algebra 2

Name ________________________   Period ______
Worksheet







Evaluate each of the following.
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Change the following from exponential form to logarithmic form.
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Change the following from logarithmic form to exponential form.
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25.  Graph 
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 and graph its inverse 
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 on the same graph.  Then find the following characteristics about each graph.  Write “none” is it doesn’t exist.
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26.  Graph 
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 on the same graph.  Then find the following characteristics about each graph.  Write “none” is it doesn’t exist.
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